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Answer either in English or in Assamese

- 1. Answer the following as directed : ~ 1x10=10

were fECe et Sepie See fi

(a) Name a philosopher whose aim was to find
out certain and self-evident truths.

% fAfve W% Fo:fa SoR wFe Tiae 21
IR 7 I AT A B

(b) What is the first and the most certain
" knowledge according to Descartes?

WW&WWWWW&?
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(c) Who said that the moving.principle of the
body is the heat in the heart?

T®H (heart) %@Wf?g*ﬁﬁa viferer *feq 1=
S o R AT @ 2

(d) In which part of the body the Soul is located
according to Descartes?

CSFI69 0o WRIR 49 Bfe ' 2

(e) Name the philosopher according to whom
God and the World are one.

559 O oT© GreE 1 S ol (1 e
19 o |
(f) What is the essential attribute of mind

according to Spinoza?

Pwmwm 89 57

(g) Spinoza holds that individual minds and
bodies are finite temporal of substance.

(Fill in the blank)
oz W @ IS 9F REHR WR
S, TP ___1 . ~

(=1 3% =71 3441)
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(h) Name the philosopher who defined substance
_ interms of active force.

e e e @n 3 wfeRe IR e fr
- wpffeeeR W e |

(i) State one difference between Spinoza and
Leibniz so far as their theory of substance is
concemed.

T TR o Tse eicE wE forRied
quﬁmWWW|

(i) What does Leibniz mean by ‘Monad of
Monads’?

Monad of Monads’ 1 & frfaes
- IWR?

2. Give short answers to the following : 2x5=10

wore T oY e fa

(a)’ Name the philosopher who laid down two
criteria of truth. What are these two criteria?

SR o1 s RS SerRCerRT TR T
i R AR IR
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(b) Does the expression cogito ergo sum (I think,
.. I exist) imply an inference? Give reasons
for your answer.

Cogito ergo sum | GTZ?TT, Dl L EY
SR @ FIRE T O R 2
(MR TG 0 Y& SISR—TEET |

(c) State two important features of
- the Cogito (Self) in the philosophy of
Descartes.
CBFIY 7S Cogito I S 151 Geeej 3RE
31 e Swry 4T

(d) State the definition of substance according to
Spinoza. What is the essence of substance as
per this definition?

- PR W TR e SRR | 9% Sige
PR TR Y1 e 0

(e) Who used the expression ‘Actus Purus’ for
God? Bring out its meaning.

4 RF ‘Actus Purus’ @l IR @I
ofeITel R 7 FARRI 9L 240 397 |
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3. Answer any four of the following : © o 5%4=20

were IRRE R e viiRee Beg o -

(a) ‘“Descartes has been called a typical dualist
philosopher in the history of philosophy.”
Explain the statement.

T Y SZPTS (SFIbE o R (1 taedm
e I SR v =1 ¢ SR I
41| ;

(b) Are the attributes of substance in Spinoza’s
philosophy subjective? What are the
two attributes of substance that a human

" mind canknow? _ 3+2=5
oo wfe TEY W OWR 8T
SRS G 2 TRET o |RR [ TR 8 5o

e '

(c) What is a ‘mode’ according to Spinoza?
Explain briefly in what way Spinoza tried to
explain the finite world. , 1+4=5
o o R (mode) B2 Pogam
forca N worov IR IRAA o8 IR,
SYF I 40
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(d) Write a brief note on the conception of God
in Spinoza’s Philosophy.
PROATER TS AR R ST 99 5 B
feram

(e) Explain briefly the concept of mind-body
relation according to Leibniz.

forafrem 0o = SF #3179 7= YRoR e
BYLE [ A

4. Answer any four of the following : - 10x4=40
were faaraed R @i siRom Ted o

(a) Give a critical explanation of Descartes’
views on cogito ergo sum.

 Cogito ergo sum q1 & Sidl, AfeE ¥}

SR’ AR (TR RIA 9F RERRES
AT SERCEHT | '

(b) Explain the chief features of Descartes’
method with special reference to the nature of
‘doubt’ as laid down by him. 6+4=10
(TR MO Y A A4H FHPHR W A
FCS (TFICH LY T TR 4O (e @

SeoRe ST 41 |
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(c) Explain after Descartes in what way mind and
body are opposed to each other with
reference to his theory of mind and body.
(SICH SORGRT T (S) WE RS o F
o SYOR YRS T WE XA A1
Reew 31 fomer soc T 40 1

(d) Explain the theory of substance as formulated
by Spinoza. Bring out the implications of the

theory. 5+5=10
PRofATSTE SISIRCERT B30 ST 1 g0l T 341 |
TR FeHmAPTR SeEy 41 |

(e) “Every determination is negation.” Explain
in terms of Spinoza’s substance.

“Every determination is negation.”
YIRECET FRoAIeR T3 257 M 7 |

(f) What are the Monads? Explain the chief

features of the monad. 3+7=10
foe smpEz 7 Be 4@ 0 %9
CAMBPIR T 40 |

Or / 7T

Explain after Leibniz about the harmony of
the universe.

- forafee wpRe FR Rewmeret e e
BIRIESIR

. ek k
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